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2. Attempt any three questions fro

1. Question No. 1 is compulisory.
3. All questions carry equal ma
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e. What effect would setting to zero the lower:

Answer any four of the following:
a. Explain the Human visual system in accordance

b. Why Is the sum of coefficients of High pass filter
¢. Define Hadamard transform. Write the Hadam

d. Explain the steps involved in homomorphis
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original and equalized ima
Gray Levels

a. Perform Histogram Equalization on G

2

m.f__m‘,x
O - S
L§: o
L B a;
m.m,mmw%
Fzssd
w286 o E
Sl =2
ol £ ¥
Ble .
sl2==5 8
zl =&
- m O
[

10

4

10

10

FO7BFRCF494AE2E18F297DC3425150B8



- G B ) 4y
s e Sl R .....“.,...z,.x...h ). o
E dn \M IR B
s S, Al S e Y
%w B .
e L = ris hp
S M P, Tog 4
gl .w_"...k. i it e v .ND ..\.v._u ..___(. L
R PR P B S
At
L ,.wwmw.ﬁm{m.,.w_ﬁ_ g
SR 5 S hm. 7 B e 513
i o e g ¥ B ey oy,
T i Ao PG
Yyl Lo T
et G e,
o G 5 L
o .qn_..__.‘__: -..nxw x xﬂhﬁw 5
“igg” g, 0 O i,
z..._-...m._.m_“.;ﬁ.mm\ _, s $u.__mf.,_..nm.-..u,..
e .w...w.. gl
_”N : ._ﬂ_q. ._“M.... TN .
2 % ﬁ.&% - Gl
aﬂ- ot ﬁ.‘m‘ . m
g e gh 3
[ “ Lo ,m._e. . ._..H.-
: ? Bk 4
o. Q m
g 3
3 o a
| 8 :
& ,_.
= .m
5 - 3
=% g 5
3 &b
e £
1 ]
3 g &
= m. : @
m 'y = m [« = .
% g 2RE 5 5 e,
= L 15 i
B s 5 s oo,
o oo
- = m m T .m m \Tv nmm?.@m.wx
m. m e g Ly
c £ LR e DA
S Mw.. . wv o e
3 — ..n..r. .u_.m
r- m. i @ o ')
m m .n._.. h_- n_ QT w _-._.qh_
82 i
-
r.)
d



